	AGENDA ITEM E				
BOARD OF TRUSTEES AGENDA					
Workshop X Regular	Special				
(A) Report Only	Recognition				
Presenter(s):					
Briefly describe the subject of the report or recognition pres	entation.				
(B) X Action Item					
Presenter(s): SAMUEL MIJARES, ASST. SUPT. FOR C & I					
Briefly describe the subject of the report or recognition presentatio	n. _				
CONSIDER AND TAKE APPROPRIATE ACTION ON THE REQUEST TO APPROVE THE SOLE SOURCE PURCHASE REQUEST OF RAPTOR TECHNOLOGIES, LLC SOFTWARE.					
(C) Funding Source: Identify the course of funds if any are required					
199					
(D) Clarification: Explain any question or issues that might be raised regarding this item.					
RAPTOR TECHNOLOGIES IS THE ONLY WEB-BASED VISITOR IN THE UNITED STATES THAT PROVIDES MONITOR AND SCR TRADE SECRET PROCESSES FOR THE SAFETY OF OUR STA	REENING ABILITIES AND				

Eagle Pass Independent School District



ASSISTANT SUPERINTENDENT FOR CURRICULUM AND INSTRUCTION

July 3, 2013

TO: Gilberto Gonzalez, Superintendent

FROM: Samuel Mijares, Assistant Superintendent for C & I

RE: RAPTOR TECHNOLOGIES SOFTWARE

In an effort to keep our schools safe, I am recommending the purchase of the Raptor program for our district. Raptor Technologies, LLC is the sole source company that is the developer, owner, and sole provider of the web-based software application Raptor vSoft. It is the only web-based visitor management software in the United States that provides all of the following abilities and trade secret processes:

- > ASP model designed, delivered and supported exclusively by the developer
- > False Positive Logic prevents continuous false positive on sex offender alerts
- Monitoring of potential sex offender alerts
- Screening for sex offenders in all 50 states
- Screening for parents with restraining orders, custody issues, and other custom alerts as designed for district needs
- > Alert notification via text message to cell phone
- Alert notification via e-mail
- > Emergency Alert button with alert notification via text, e-mail, and text to voice
- > Secure History and Reporting features available from anywhere via internet

If you have any questions, do not hesitate to contact me at extension 1011.

SM/lcm



AFFIDAVIT OF JAMES J. VESTERMAN

STATE OF TEXAS	§
	§
COUNTY OF HARRIS	§

Before me, the undersigned notary, on this day, personally appeared JAMES J. VESTERMAN, personally known to me to be the person whose name is subscribed to this Affidavit. After I administered an oath to him, he said:

1. "My name is JAMES J VESTERMAN. I am over the age of eighteen (18) years and fully competent to make this Affidavit. The information contained in this Affidavit is within my personal knowledge and is true and correct.

2. "I am the Chief Executive Officer of Raptor Technologies, LLC.

3. "Raptor Technologies, LLC is the developer, owner, and sole provider of the webbased software application Raptor vSoft. Raptor Technologies is the only web-based visitor management software in the United States that provides all of the following abilities and trade secret processes:

- ASP model designed, delivered and supported exclusively by the developer
- False Positive Logic algorithm which prevents continuous false positives on sex offender alerts (trade secret process)
- Monitoring of potential sex offender alerts by Raptor to ensure highest possible levels of security and data integrity (trade secret process)
- Screening for sex offenders in all fifty (50) states (with picture-when available) and sex offender data hosted by the ASP
- Screening for parents with restraining orders, custody issues, and other custom alerts (input by the school or district)
- Alert notification via text message to a cell phone (subject to wireless provider and equipment)
- Alert notification via email
- Emergency Alert button with alert notification via text, email, and text to voice (integrated with every module)
- Secure History and Reporting features available from anywhere via the internet

- Optional student tardy badge printing
- Optional detention slip printing
- Temporary ID badge printing
- Integrated Volunteer website offering off-site volunteer hour logging (Virtual Volunteer)

4. "The Raptor Optical Scanner and Raptor Printer are both manufactured to our specifications for use with vSoft. Support is only provided for equipment and supplies purchased from or approved by Raptor Technologies, LLC. Use of any other equipment or supplies with the Raptor system will void all warranties and guarantees."

6. "Competition for this solution is precluded by the existence of trade secret processes."

Further Affiant sayeth not.

JAMES J. VESTERMAN

STATE OF TEXAS § SCOUNTY OFHARRIS §

BEFORE ME, the undersigned authority, on this day personally appeared JAMES J. VESTERMAN, personally known to me to be the person whose name is subscribed to the foregoing instrument and acknowledged to me that he executed the same, in the capacities, for the purposes, and for the consideration therein expressed.

Given under my hand and seal of office this \underline{SK} day of \underline{Juac} , $\underline{20B}$.



ht Canel

NOTAR PUBLIC - State of Texas



Opportunity Owner	Jose Pineda	
Quote Number	201304-11201	
Created Date	6/21/2013	
Expiration Date	8/15/2013	

Opportunity Name Eagle Pass ISD

Product	Product Description	Sales Price	Quantity	Subtotal	Total Price
Annual Access Fee	One (1) year vSoft Annual Software Access Fee (per location). Renewal fee is due on the anniversary month of purchase. Raptor Alert Monitoring service and technical support is included.	\$480.00	24.00	\$11,520.00	\$11,520.00
Database Setup Fee Remote	Database setup fee. Does not include on-site installation. Remote assistance provided at no extra charge. (Call for quote for on-site installation and training all installations subject to schedule availability.)	\$350.00	24.00	\$8,400.00	\$8,400.00
Installation Fee	On-site installation and training will be provided at no extra charge for a single rollout. All installations subject to schedule availability.	\$275.00	24.00	\$6,600.00	\$0.00
RaptorWare Duplex Scanner	ID scanner for state issued identification cards 1 year limited warranty.	\$495.00	24.00	\$11,880.00	\$11,880.00
RaptorWare 450 Turbo Label Printer	Badge printer for visitors and/or student tardy passes 2 year limited warranty.	\$139.00	24.00	\$3,336.00	\$3,336.00
Raptor Visitor Badges (White)	Raptor visitor badges (10 rolls/300 badges per roll). Climate controlled environment required for storage. Quality guaranteed for one (1) year after purchase date.	\$100.00	24.00	\$2,400.00	\$2,400.00
Shipping and Handling Fee	Required on all new orders.	\$36.00	24.00	\$864.00	\$864.00

Subtotal	\$45,000.00
Discount Amount	\$6,600.00
Discount	14.67%
Grand Total	\$38,400.00

SUBMIT ALL PURCHASE ORDERS: email to orders@raptorware.com or fax to 713-880-2577 or mail to P.O. Box 7966 :: Houston, TX :: 77270-7966

REMIT ALL PAYMENTS TO THE ADDRESS BELOW (always include an invoice number/detailed paperwork with your payment): Lock Box 4897 :: Houston, TX :: 77210-4897

Order equipment and supplies or pay your renewal online at: www.shop.raptorware.com Phone 713-880-8902 :: Fax 713-880-2577 :: orders@raptorware.com

TERMS AND CONDITIONS:

1. Only hardware and supplies purchased through Raptor Technologies, LLC are approved for use with the Raptor System. Use of any hardware or supplies not approved by Raptor Technologies may void all warranties and guarantees.

2. Restocking fee of 25% of purchase price will apply to all returns. Shipping/handling fees are non-refundable.

3. All purchases from Raptor are subject to terms and conditions of the Raptor Subscription Agreement, which can be found at www.raptorware.com/SubscriptionAgreement.html

Please be aware that use tax may apply and you may be required to remit use tax on this purchase based on your state's tax rules.